5y21"7 'on X,2v naw .7"02

One who had — PAR NYR 397 R 'nn nnsws nops wen Hya
relations five times with a Shifchoh Charufoh is only liable once

OVERVIEW

X91w taught that according to the 7"n that 72102 Av>7 *ya XY X7 awy,? the rule will
be that if someone is 9¥12 a 1910 AnOW five times, he is only liable for one WX
79171 Andw, even if he was aware between each X2 that he transgressed.

- SYYDY WY 1IN Y297 KRNV M 3nYNNa NPT SyaT INnY YaN
However according to the one who requires a 775102 7¥°7° by an °X7) WX, there

will be a dispute between %' "' regarding one who was 19171 w2 MY°va wan Y912 -
= 611995 NN RINY SNYTY NIAY 1923 )aNI? Y3454

For according to >''1 since it is an important 7¥37, for it causes the atonement -
- MPYNNT NNYAY NN PAY MY 19V Y3 7MYrean ANN YUY MIT 1998 MPYINN

Therefore even the ny>7> of after the n»°wa are np>nx, and certainly the nws7°

between each 7182 are mpumn -
- TP NI MPT9T 1207 WIPY WY

However, 2''1 who maintains that n1w 7> (after the fact) are not npbm», so -
- MPYNN PN ANAY INOD PAY MT 199N 79YIN NNOWA NI

Here by 71211 mew, even the nmy 7> which take place between M2 are not nypomm» —

' A 7970 anow is a n°ayd anow who is NOTIXA to an 72y 7ay. There is a dispute (elsewhere) whether she is a oW
T3 or a PN N2 ¥M Andw ¥, One who is 9¥12 a 1910 Andw is 20 bring an (7910 now) awr, whether he was
5312 her 232 or (even) 712
2 See previous 181 1"7 2,XY '0IN.
3 An owX cannot be 931 (according to this 7"n) unless he was first aware that he sinned. This means that if he
brought an 739117 7now owk for a 72°v2a that he was aware of, and after he brought the 1277 he became aware that he
was also 9¥12 this n"w another time; according to this 7"» he will need to bring an additional awR, since when he
brought the first 2wX he was unaware of this 7X°3, and 72102 7Y°7° *v2 X7 QLK.
4 The xm3 cited previously (on 2,8v) a dispute between 711> in a case where one ate two X 07vn2 291 °n°1 (he was
not aware in between the two MoK that he is eating 271), and later he first became aware of one 271 n°1, and afterwards
he became aware of the second 2%n 1. According to > he is 217 two NXvn, since the My>7 (after the fact) are
mponn. The reason is because as soon as he became aware of this 77°2¥ (of one n°1), he is 2>°17 a 127p. Therefore this
1277 cannot be effective for the other n°1> of 291, of which he is still not aware. However "1 maintains he is 20
only one nRvn since My 7 after the fact are not Mmponn. [According to "1 we say nmiponn ny 7> only if he became
aware of the first N1 before he ate the second n°1, but not if he ate both 71X 0%v72 2°n°1 and later found out about one
before the other.]
5 The n"27 minx1 amends this to read ®nw 2w 7y (instead of Xnw 7Y>7).
¢ We are now following the view of the 7"n that 7%°1n2 77 ¥a R WX, so the Ay 7> that he was Py is a 77
72w, since this makes him eligible to bring an oW and be 793n1. Without this 717> he cannot have a 7793.
7 By other o1o°x (like 2%1) °" maintains Mpbnn My 7 (even the Mmy>7 after the fact [see footnote # 4]), therefore
here too by 911 Andw, since 37 plays a prominent role, they are np17nn even after the fact, and they are certainly
mMponn between the MX*2 and he is 21 five NMWwR. See ‘Thinking it over’
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mMooIN anticipates a difficulty:
= MPONN NHIINRD NIYAN 1PaY MYPTST WIPH WY NI 25N %227 23 bY 9N

Even though that regarding eating 251, even %' admits that the ny>7> between

one eating and the other are mpYm», so seemingly the My between nx2> X2 by a
n911 nnow should also be mponn, why is there this difference?!

mooIn responds:
= SHNMAYNR MPONN MY NINNI NHN MW DNNYT INT D

251 and 190 AnOW are not similar, for by 2911 the 1277 depends on 7w, so

therefore nw 7" separate the M -
- 99HAY NAYN NWTIN PR AW PTTH YY XYY N9YIN ANOYA Yax

However by 191917 mew where he brings an owX for a 79t% just as for a axw, so
the 797 is not sufficiently important to be pom.

In summation; if we maintain that 77102 79°7 °y2 °X7) WX, there will be a npYonn between "9
9" regarding 7910 nndw awk. According to °" who maintains MpYnn wWYRT WKW NPT,
because the Ny>7 create the 127p 21,0 therefore by n"w, which also requires a 7¥°7° (to bring a
127P) the Awyna “nxw ny7 will be p7r and certainly the o»nraw nmy7 will be p7rn and he
needs to bring five nmwX. However according to 2" who maintains that only the 2»n1vaw my 7
are ponn, but not the Awyna RPY my>7, this indicates that Mphmna My>7 is not because they
cause the 12977 211 (for 9" maintains that qwyna IAR?W My>7 [even though they are 211 a 1277]
are not ponn; rather the 0»nraw My>7> are ponn because this completes the maw nwyn. Therefore
by 7911 oW where there is no need for 7w (since there is a 1277 211 even 7°112), therefore
even D°°nNPaw My*7° are not P and certainly the Twynn ANXOW My*7° are not Pnn, and he brings
one 127p for all the N9 va.

mooIn now explains the ruling if we maintain 75102 73°7° °¥2 KD 'R QWK:
= 79 1IN 539 929N NbNNA NYST Kya YT INIY DaN

However according to the one who maintains that an °X7) aWX does not require

a mna mYaT, even "' admits that he is 20 only one awx, for in this case -
- INYAY NINYA P2 PPN PINY NISWN NIT N9 NNN) NITA PRY 9

8 By 2911 (and other 10°R) for which a 1277 is brought only if he did it aw3a, it is understood that as soon as he
becomes aware that he sinned, that 7w is over with, so therefore if he forgets again and repeats the 110°%, he needs
to bring a separate 127p for the second 77°2y. This means NP2 77°3X) 729K PW MW7,
° By a 119170 andw one is 21 to bring a owX 127p even if he was %¥12 her 713; he was aware that he is doing an T1OX.
We cannot say therefore that nponn 8°21 78°2 12w 7v°7, for nothing changed by his 137>, he would be 211 even if
he was aware before doing the 7772y,
10'See footnote # 4.
' This means that if he brought an owx for one 7%°2 and then later realized that there was another nx>3, the awx that
he brought is 1951 even for this 7X°2, even though 7°1n2 7¥°7° 12 77 X%, See footnote # 3.
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Since the 777> does not cause the 7955 (for there is no requirement for 75nn2 77
by n"w in order that the 1277 should be 7921),!? so therefore even > admits that the

77 is not significant to be P2, even between one 178°2 and the other, and -
= DOUYNN Y3 NN )9V D5

The ny>7 is certainly not p7rn after all the actions were done. If he became aware
(after all the m?>y2 wnn) of one 72°¥2 at a time, one 1277 is sufficient.

mooin asks:
= 11990 NNOYWA NN DYN RION 'N NNIN 9NN ON)

And if you will say; it is satisfactory if there is an obligation to bring an "¥»n awx

by a 9y nPW, for then -
= NN NIN 2990 1INT NPT *¥a YT INNPD 999V INN

It will be correct to say that according to the one who does not require a 7y>7

7onn2 by an X7 owR, that he will only be 297 one 7917 amow owx even if he was 9912

five times. The reason is -
= 1959193 1195 MINND DUN N2ANY DI1D2YW 1217995 NN NN PRY

Because by a r"w the 1¥>7> does not cause the ;1923, for we know that he can

bring an 2wx and stipulate just like by 7%9%; according to this it will be understood

that there 1s a case where there is no need for a 7¥°7 to have a 73793 -
= MY OYN NN NNAYA DIPN DIVA INIYN XY XNT ¥91HN oWN Na N*Y IN YaN

However if there is no »»n awx by a n"v, for we never find anywhere a mention

of »Yon awR by a "', so therefore -
= HNON YIY NNNX NPT XX RNT DINY 29N NNNX NIN 2990 19N INNAN

Why is he 217 only one owx for the five Mm%, he should be 21 two NMnwK,

since he needs at least one ;7¥57%; moon explains -
= 11995 NN NPT AN 291 15)29D DIV NYANY D192 NN NY 1D Y113 XD ONT

For if he did not become aware that he sinned he could not have brought any

12 See footnote # 4 & 10. *"1 does not distinguish between on1aw My>7> and the Awyna IARPW Ny in both cases
they are mponna since the NMy°7° cause the 127p7 210, However by a n"w where there is no need for 7v°7° to have 7792
(for we are now assuming 777102 7Y°7° °¥2 XY X7 OWX), therefore the N> 7> are not Mp?nn (even the o»n1va My>7).
13 'We are now assuming that there is an obligation to bring an m>n WX by a 79197 AMOW, meaning in a case where
there were two woman in his house, one of them was a 1191711 719w and the other was N7 to him, and he is not sure
which one he was 2912. In such a case he brings an »%n owR (if we assume that there is a 21’17 of »¥2n QWX by a n"w).
The %¥12 could then bring one R for an owx and stipulate; if T will never find out whether I was ¥12 a "W or not,
this should be my »%n owr, and if I will find out later that I was %12 a n"w, this X should be my 19170 Anow aw. If
he finds out later that he was %12 a n"w this 1279 will have been 19537 without a 72102 (N°X7) A7,
14 mpon is now assuming that in a case of 1"w3a 72°¥2 Po0 (see footnote # 13) there is no »2n awx arn (for whatever
reason).
15 This is simply a practical necessity (not so much a halachic necessity); if he is not aware of being 712 a n"w, how
can he bring a 7127p; he does not know that he sinned.
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1297, so this Y37 causes a 3'15:,16 therefore this 7¥>7> should be nponn and he should be
2717 two MRWN.

MO0IN answers:
= D5V MINNDY 7NN DY DYUN NXAND D19 NOYIN NNAWA DN DWUN PN IDPONRT 991D v

And one can say; that even if there is no »n awx by a 79171 7MW, nevertheless
in case where there is a P50 whether he was 2312 a n"w, he can bring an 2wy with
a stipulation, and stipulate that it should be a 299w if he was not %y12 a n"w.'

mMooIn anticipates a difficulty:
= 19905981 19D VYNH RNYNT DIDON $H°2Y DIWTP PNAN PN 9INT INND 1799N)

And even according to the one who maintains that one may not cause 2°w7p to
become disqualified, so he should not be permitted 2°»7w2 Mini, since now he is
limiting the allotted time to eat the onbw —

mooIn responds:
= NYY AYYY NN NIND 92y ONT 119 1995 9 2PUN XY 0PN Yan

Nevertheless the 7v°7° is not considered causing the atonement, since that if he
transgressed the rule of 710577 n°2% 2°w1p 1°X°2n X and made the stipulation (that

it should be a on%w), the rule is that what he did was done, and it is a valid 127p
(either a 017w or an oWX as the case may be). Therefore there is a way to be 99501 with an oWy

16 We are discussing that there was nw>7> between the nX°2 (see 7va 7"7 *"wM) for if there were no My>7, all would
agree that he is 21 only one. Therefore one of these my>7 is a m2wn Ay, for if there would be no my 7 at all,
there would be no possibility of a J27p (since there is no "?n awk for a n"v), and therefore this 737> should be npnn
and obligate him to bring two m»nwy; one for the nx"2 for which he had a n3>7 and another for the remaining nx"2.
This is not like what was stated in footnote # 11. [However no more than two mnwy, for the other my 7> are
irrelevant, since they are not 7192 071, for he is 217 for AW 7°13; only one 7v°7 is relevant for otherwise there can
be no 127p. See ‘Thinking it over’]
17 He will stipulate as follows; if I was 9312 a n"w then this X should be an 719170 oW owX, and if I was not %312 a
n"w, this 1277 should be a 2>w 127p. A 019w 1277 is similar to an owWR as far as the 772y is concerned; they both
require ¥2IXR 17w Minn "nw, and the meat is eaten. However there is a difference; for awx is 2°w7p *w7p (and the meat
can be eaten only 7172 1217 and only in the 777v and only 72°91 019), however the on%w are o°2p o°w7p (and can be
eaten by all in all of 2w and for two days and a night). This 127 will need to eaten like an owx; not like a 07w
(since it may be an awR).
18 Should the S¥12 do this, and later it turns out that he was 712 the n"w, he will be 79201 with this awx, even though
that when he brought it he had no 7y°7 that he was %12 a n"w. The 0°n%w plays the part of the »>n awr. We have a
case where the owR is 72nn2 7¥°7 °va R (even if there is no 120 awR by a n"w). There can be a 71193 without a 77,
19 He is stipulating that it may be a 2n%w; however (see footnote # 17) a 217w is eaten TR 77°71 2’1 '2%, but he will
be required to eat it only for 79°21 ov (and only for 0°1773); so it is possible that since he is limiting the capacity to eat
the 07w, it will not be eaten up by 72°21 a1 and it will eventually become 101, which has to be burnt. We are
therefore causing to bring 71097 n°2% o°w7p, which is prohibited. Seemingly he should not be allowed this option; the
question therefore remains how can there be case of a 7793 without a 7y>7°.
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n"w even without a 1nn2 7y, The nv7 therefore (if there is one) is not 27 the 7792, so it is
not a 2w ayT.

mooIn anticipates a further difficulty:
= 207959193 NONDIN VPI XD NDYIN NNAY RNNY VPIT NN

And this which X7 mentioned his ruling that we require only one owX by

multiple M2y by a 79777 Answ, and did not issue his ruling by 7%°¥»; seemingly

he should have chosen 177°¥1 to make his ruling -
= 219599 YPa ND INTY DUNT 1907 NN NDYN vax4

Since it is regarding 7%°y» where the mawn teaches that an "X71 awR does not
require 7YS73, so why use 1911 19w instead of 72°yn?!

mooIn responds:
- 2550Y NPT XIPWN RKY TUPNY AU 12 199NT IPPNRUNY NONT DIVUN

Because X7 wants to inform us that even a 7v°7° between each ;wwn, is not

considered a por® Y7 -
= NINLNI D NPINNT RVIWD NPV YAN

However by 7772 it is obvious that a nwyn% nwyn P2 7v°7 would certainly be
npbmn, just as it is by a nRwR 1297,

mooIn proves his point that by n"w, even the 0»n1vaw NMy>7° are not Mponn:
= 9INRT (x,0 97 Mmnda2) D993 290NN 7T P92 YHIYN 1)

And so it seems in 7992 1917% 'T P95 where the X713 states -
=97 AN BYYNA MNAY /N DY XAN )aNI 2291 ANITIV NN 229 1939 Nya

7INT%L 11" queried °''9; one who has relations with five different mo1n nnsw
in one 2%y (he was not aware that he sinned until after being %12 all five n"w);

what is the ruling; how many m»wx is he 271 —
= BZHANR ANAYA MNDYN 7NN NIY INMDY NNNXY NNNX D3 by 291 1Y 99N

"3 answered 11"7; he is liable to bring an awy, for each one (five mnwx). 0"

20 }9w could have taught that if one is 9¥% many times and then he finds out about each 7°vn separately, so even
according to 117 ' who maintains NMpPomA AWYR MRPY MY (so by other ™o’k he would be 2»1 many nia7p),
nevertheless here by 77°v he would only be 211 one oWy, since 77MN2 77 °va K2 R QWK, the same as he said by n"w.
2! The advantage of mentioning 77°yn is because by 72°v»n we know with a certainty that 79102 797 *va X? as the
mwn stated (see previous 181 1"7 '01n) in the case of an "2n owx. However by n"w we are not certain whether there
can be an "0 awR, and there is the difficulty with n5wa mani®, so the idea that n"w owx does not require 77937 737 is
somewhat problematic. We should therefore stick with 79’y where we know with certainty that 71939 7v>7° *va X7,
22 X9 therefore chose n"w because of this great w170 that even a 7wyn? 7wyn 12 AY7 is not pPonn.
2 "9 is asking if by one amow with five N5 (where usually there are five n1137p), nevertheless he is 211 only one
oWy, so by five mnow if he did them Tnx 02v72 he should (certainly) only be 21 one awRX (as the case is usually
when doing the same 70°X many times 71X 22¥72).
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asked "1, but why is it different from being %312 one 19177 AMEw with five

MNP (meaning that he became aware after each one before forgetting and being 7¥12 her

again), where he is 211 only one -
= 1PN D291) XON PPPININ DN PN ONN N*Y 99N

"9 responded to 11"; there by mn%yi 12 nnX nnow the bodies are not separate
(it is only one and the same nrmoWw), however here by five 71X 07v72 mnow the

bodies are separate (they are different mnsw). This concludes the citation from that X773,

mooIn continues with his proof -
= 5ANAD AN PPAY MY 1DAR MPHNND NYT NNON 241049 s¥a RDT INIPY 139979

And this entire discussion, including this which was stated that by anowa nmbvia '
nnx,%¢ there is only one awx, is only according to the one who does not require a
Tomna Y7 by an X7 owR,”’ it is therefore evident that even the ny»7 between

each 1X°2 are not mpP®mn. In fact, continues MdOIN -
= $PYII97I 137 HNNXI NNN T3 19299 Y110 XYY NIND102 Y097 D990 5N

There are texts in which the statement of X2 reads explicitly, m>°y2 wnn 5y2'

'NAR XOR 277 1R AARY AAR 92 192 Y% ¥7I37 1910 anowa; and this is as T explained it
that by 179171 7MoWw even the 2°°n1°2 MY are not Mpomn. 28

mooin asks:
= 2MPINN MY 13NN 22999 RNHYTNH VIVIN IR ON)

And if you will say; let us resolve from s'8"w statement®® regarding the n"w that
»''1 maintains N7 alone are NMPYRR, even without NMw1o:7?

24 See 0" that it was not necessary for MpoIN to mention this for his proof (for if a»nraw My>7> are not MNP
according to the 7" that 737 °¥3, they are certainly not mp%nn if we maintain 737> *v2 X?) rather he mentions this so
we should not ask how can we bring a proof from that X113 where "1 maintains that »n1aw my*7 are not MpLn,
when "9 by us maintains even Mponn Awyn IMROW MY 7 (so obviously they are conflicting n17n3). Therefore nvoIN
explains the reason *"1 there maintains Np7nn PR is only because by an 77102 7v>7° °¥a K7 "R QWR.
25 %1 1 said why is it that by mn?v7 72 nAx Andw (meaning 2°°nra My ) there is only one owR.
26 mnbyn ' means that there was a 1y 7 between each nx".
27 See our X m3 and the beginning of this N0, that only according to the one who maintains 77 *ya X? is he 20
only one awx.
28 See the R"y" 7R3> 0"win 1193 that from our X3 it is also evident that even a o»nraw 7¥°7 is not porn. We are
now assuming that 7¥°7> *va X? so even if he was 99201 on one and became later aware of the other M?°v2, he is 99301
on the others, so obviously a qwvn KXW 7v°7° alone (without a 7192) is certainly nor ponn. Therefore we must say
that the w170 of X2 is even by 0012 ny>7 that he is only 21 one, w">V.
2 Previously (on 3,x¥) the X113 queried as to the view of 131 1. Does he maintain that if after he ate two 2571 >n°1
TnR 0772, he became aware of eating one N1, so at this point (even before he set aside a nXvn for this n°T) we say
mponn my»7 and he will need to bring a separate 127p for the second n*1 when he becomes aware of it (see footnote #
4), or do we say that only if he became aware of one n°1 and was w>19n a 127 for it, only then is the npnn nwo:7 and
he will need to bring an additional j27p for the second n°t when he becomes aware of it (however n¥>7> alone are not
mponn). It would seem from s'®91¥ statement that > maintains that even np1?mn Ny 7 (and Mphnn Mwana w"d).

6

TosfosInEnglish.com



5y21"7 'on X,2v naw .7"02

N190IN answers:
$9INP 3191219 N¥NN ON NOIWT 99D v

And one can say that X?'» made his statement in an '92%% X3%»n aR' manner.

SUMMARY

If we maintain 77> *v2 awX then regarding n"w, °"1 would maintain he is wnn 20
and "1 only one even if nX°2% X2 12 ¥ (since awD 7°1). Even if there is no
"17n owR for a n"w, nevertheless there is no n79on 7¥°7°, for he can be 71NN on a
7w (which is effective 72v°72). If we maintain 7v°7> *va X2 then he brings one
awX even if there was a X% 82 12 V7.

THINKING IT OVER

How do we explain this difference; if we maintain 79102 73°7° *¥2 °K7 WX, the rule
according to > is that he is nwR wnn 271;3 however if we maintain XY X7 QWX
nonna Y7 va, but there is no "?n owx, then since we require a 7¥>7 (otherwise
there can be no 127p) he would be 2111 two MnWR, but not five.* In both cases we
require a 7v>7°, why do say five in one and only two in the other?!3*

30 X9y stated that according to the one who maintains 79702 Y>> *va R °RT oW, the rule will be that Mm% wa ' Hva
NNR ROX 217 KR n"wa. However according to the 7"» that 75102 Ay 7 *¥a °RT owR, it will be a npI?nn between "
5"93, whether he is mawy ' 270 (the view of *"7) or only one owRX (the view of 9"). See the beginning of this '01n
(footnote # 6) that according to "1 (who maintains nMp%nn N°7°) since the 7v°7° by an owX is a 72wn 77 for it
causes 7193 (we are now assuming 777102 7¥°7 Y2 X7 owR), therefore (and especially since it is a N2 73°7°) the
my>7 are Mpon and he is MW ' 2»n. However we are not certain that *"3 maintains mpon» nMy>, it is possible
that only mpomn nwon (see footnote # 29), and if *"1 maintains NP MW7 the rule would be that even if owx
7onn2 v w2 X7, he would still be 21 only one, since (if we maintain Mp?nn NMWw1o:7) the MY>7> are not 07 the
719> (only the mwo71). However, since X7 said that (only) if 77702 7v°7° *va 82 owX only then is he 21 one (but
not if 77nn2a 7Y*7° *v1) this proves that (at least) X2 maintains that according to >" we say mpomn My 7. Alternately
see 07712K *10 who explains that if ny>7 are not Mp>nn then there is no need for R to teach us that he is only 21
one, since by n"w a 7 is like a anw. "y,
31 979 x¥nn ox means if hypothetically we would assume something. Here too X1 is saying 2"nX (if hypothetically
we assume) that *"1 maintains nMp?nn My>7 then he would bring one awr for five m>w3, only according to the 7"»
that 72nn2 7¥°7 *va &Y X7 oWR. However according to the 7" that 7v>7° *va then if " maintains Mponn My 7, he
would be nmwx 7 2m.
32 See footnote # 7.
33 See footnote # 16 [in the bracketed area].
3 See footnote # 15 and nax nowa (1"7).
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